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1. EiEREx 1l = 466,540
2. Bk g 1l = 13,764,882
3. BEYE 1l = 16,200
4. FEMLSG 1 = 7,070
INET 14,254,692
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IR ASEES 11 = 1,063,052
2. BShHEEK 1l = 172,010
3. HEH 1l = 508,566
4. [f KoKFE 1l = 11,211,827
5. = 11 = 2,896,117
6. LMWL 1l = 371,080
INET 16,222,652
BRELE
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1 BN ERIRER IR 11 = 400,470
2FBNRIE IR R 11 = 150,080
SHWEIE 11 = 72,174
4 FEE M5y 1 = 18,180
INET 640,904
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146 7K 5% fm 1l = 970,890
2 HNER R 1l = 967,650
3FAMINIE 1l = 26,100
INET 1,964,640
Hi 33,082,888
(B)H#EE
HBRERE 1l = 3,893,000
I RGEERE 1l = 4,388,000
I —REREE 1l = 4,236,112
Hi 12,517,112
a&t 45,600,000




